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om. 1st Semester (Pass Course) Wef Session
2014-15 Current Scheme Examination,

November-2014

BUSINESS MATHEMATICS-1
Time allowed : 3 hours | [ Maximum marks : 80
Note : Attempt five questions, selecting one question from
each section. Q.No. 1 is compulsory.
qe :  gEF 5HE G U F9T g0 §U, Wd 597 FHT | 597 4.
1 sarg 21
Compulsory question
CIREICEES
1. (a) Determine which is larger: /7 or /3
(b) Ifa’+b%*="7ab, show that
2log(a+b)=21log3 +loga+logh
(c) Evaluate (i) "*P, (ii) *P,
(d) 1If"C  ="C,,,findnand hence find "C,
(e) Findthesumof 2+5+8+....+182
(f) Find the 6th term of sequence
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Define Tabulation.

What are demerits of ‘Primary data’ ?

Freffa T &9 &1 891 & ¢ /2 I 43

3t a2 + b? = Tab, REmE &
2log(a+b)=2log3 +loga+logh

g B (i) 2P, (i) °P,

3t 1C  ="C,,; N H 91 76 WA "Cy

24+ 5+8+... + 182 % FAHA 31d HIOTT |

T 1—%211——% F 691 I8 S FHIoR | -
et 3 aRe i |
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Unit-I
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Solve
2 27
()--9x81*= 573 Gi) k= >
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Evaluate

(i) log, 53 (i) log,, 57

1

(iii) log 0.6254  (iv) (0.6254)3

&l FIfoT

(1) 2 IRBY == (i) a"+‘=¥
27 3

TrAIE BT -

(1) log, 53 (i) log,, 57

1

(iii) log 0.6254  (iv) (0.6254)°
i A={abc d}, B={b,dfh} C={c.d,{k}
find (i) A A B (i) (A~B) U (B = C) (iii) C " A
(V) (ANB) NAMANG ) (AUB)UC
(vi)(AUB)N C(viii))(A-B)UB

In a survey it was found that 21 people liked
product A, 26 liked product B and 29 like product

C. If 14 people liked products A and B, 12 people
liked product C and A, 14 people liked products
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B and C and 8 liked all the three products. Find
(i) how many liked product B only ?

(ii) how many liked product B or L/

a® A={a,b,c,d},B={b,d,f,h},C={c,d,f,k}

I @ (i) A N B (i) (A-=B)u (B -0
GiI)CNAG)ANB NAMAND
(vi) (A U B) U € (vii)) 1A UB)n C
(viii) (A-B)UB

o G397 & T qr A 6 21 AR T IR A % TES
RFaT, 26 3 IO B &1 TE= R qur 29 I C &
TE B B 1 AR 14 A0 SEE A YT B #: TEE B
¥ 129 IR C ao AR T A 2, 147 s@w

Baar C 3 6 &3 & dor 8 @it i Sl # g6
FQ & | 1T B

(i) Fra @ e SaE B H 76 FX & 7
(ii) e @ I B o C & T8 & 2 7
- Unit-II

zE-11

How many three-digit numbers can be formed
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without using the digits 0, 2, 3, 4, 5 and 6. When
repetition of digits is not allowed ? '
Fmdy i F P =777

3 0,2,3,4,574 6% & ST HQ §C Brat
I 3f P T S S HHl & o R H I

oFid S g 7P P =027
HC -5 - 2*1C =6:9:13, findnandr.

A polygon has 44 diagonals. Find the number of

its sides.

R -IC T IC 6043 6l Ho T
?‘bliSIQI

T g B 44 et ) 3Ee W # den g
FieT |

Unit-III

gs-I11

' |
The p" term of an A P. is a and ¢ term is E .Find

the (pq)™ term.
[P.T.O.
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The sum of the first p, g, r terms of an A.P. are

a, b, c respectively, prove that

a b ¢
5 (q-n+ a (t=p)+ ; p-q9=0

1

w AP.F pll ® R g3 = — 21 (pgA T

1
p
ST it |
wH A.P.3 32 p, q, r T B AR FHAL: a,b,c¥|
fos ifore b

a s ¢

b (g=1)+ q (r=p) + P-9=0

Find a G.P. for which sum of the first two terms 18

_ 4 and the fifth term is 4 times the 3rd term.
Sum the series to n terms
4+44+444+ _ nterms

w5 G.P. 7 i Pred R oo & W & A
_ 4% g oot 0 SR 0 # A4 B
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4+44 +444 4 - n 9
Unit-1V

THE-1V

‘8. (a) Differentiate between :

(i) Exclusive Series and Inclusive Series
(i) Simple and Cummulative Frequencies.

(b) The following table shows the relative values of
certain commodities during the period 2006 to

2010. Study the table and answer the questions

given below it:
Year
Commodity | 2006 | 2007 | 2008 | 2009 | 2010
Pulses 81 76 74 68 i3
Oils 82 64 66 86 90
Vegetables | 84 78 | 100 | 100 | 98
Fruits - 78 72 70 64 60
Milk 77 70 64 68 62
Wheat 97 94 88 74 78
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(i) For which commodity there is a trend of
regular decrease in the relative value

between 2006-2010 ?

(ii) Which commodity showed the greatest
change in relative value in 2010 compared

to that in 2006 ?

(iii) Find the average relative value of vegetables

during the entire given period.

(iv) Whatis the average difference in the relative

value of all the six commodities in 2010 as -

compared to 2006 ?
Frafafad & a9 Y i
() oTEENT SEar qdn At e
(i) aTemeT qgr dedl AgRE |
Frforiad greft 2006 & 2010 7% i 3@y & IR
Fifee aegell & @me g F1 el & 1 Rl @

Foe FW qw 3ES A= Ry T oge $ S
i

[See 9th page
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2006 | 2007 | 2008 [ 2009 | 2010

81 76 74 68 75

82 64 66 86 90

84 78 | 100 | 100-| 98

78 ol 70 g eliep

¥4 04 68 62

ﬂ:%ﬁg%ia

97 | 94 88 74 78
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(i) fP9 a%g B Riw 2006-2010 3 = a7 &
Frafe FrEe @t mgfr @ 2

(i) %I & 7% 2006 3 g F 2010 F a0E g
4 HAftrepee afade R @ 2

(i) & & g0 @y % IR Tt B ol e g
FI I | /

(iv) 2006 g & 20107 &+ B: Fegeit & e
o § AT ST A B 7

Represent the following data by a multiple bar
diagram

Year | Income in Rs. (Lakhs)

Firm A | Firm B | Firm C

2010 16 30 40

120ITEGIZ 18 45

[PTO.
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(b) Represent the following data by a pie diagram :

Expenditure on Amount spent (in Rs.)
Food 400
Clothing 200
House rent 500
Fuel and Lighting 700
Education 400
Others 2QO

-

(F) Pt o2 B aghe ave e e
Hf

T a5 # (dra)
| A|w B |®EC
20101 16 | 30 | 40
201110 | 18 T 45
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M e e T R (5. F)
HER 400
TS 200
Y 7 e 500
34 T TS 700
fore | 400
4 200
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